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wave=0.5*sin(time*2*%pi) + 0.5*(rand(time)-0.5);
playsnd(wave);
savewave('wave.wav',wave);
plot(wave(1:500));
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wave=0.5*sin(time*2*%pi) + 0.5*(rand(time)-0.5);
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for n=3:length(wave),
for i=0:2,
out(n)=out(n)+wave(n-i)/3;
end
end
playsnd(out);
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(%) Pythona—F

import matplotlib.pyplot as plt
import numpy as np
import simpleaudio as sa

time = np.arange(0,100,0.01)

wave = 0.5 * np.sin(2.0 * np.pi * time) + 0.5 * (np.random.rand(

np.size(time)) - 0.5)
out = np.zeros(np.size(wave))
for n in range(20,np.size(wave)):
for i in range(9,20):
out[n] = out[n] + wave[n-i]/20

audio = out * (2**15 - 1) / np.max(np.abs(out))
audio = audio.astype(np.inti16)

play obj = sa.play buffer(audio, 1, 2, 44100)
play obj.wait_done()

plt.plot(out[:500])

plt.show()
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for n=2:length(wave),
out(n)=wave(n)-wave(n-1);

End

playsnd(out);
savewave('wave.wav',out);
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Augmentation of Laugh

®https://www.youtube.com/watch?v=mTsJd109tzs

®Take initial laugh timing by measuring muscle activity.

®Enhance the laugh by using “empathy effect”
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